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SAGUARO
OCTOPUS TREE
HONEY LOCUST

HOLLY
BLACKBERRY
JUNCO
ROSE BUSH
BLACKTHORN
BINDYII
AGAVE
EUPHORBIA
FIRETHORN

BRAMBLE

HAWTHORN

CALTROP

CACTUS

THISTLE

>

L= m u»nu m N H A < O 2 - 0 O W
> Cc » - m - I D C OMmMmww O X
= =2 O O N 4 O v \nn 4 O M m
cczZZxxoIxIT - m>XkMH™TTI >
r >» A0 X 00m X 0 < H O @
m 20O mr -4 nw A~ I - 2 m o I
m O mmacc < = {4 m >» O U m
oOmru n << < moW<< MN" wn O N I
o C W >PO< T X IOV O O
= 2 "o < o 4 r 4 xr O H
> A m >» N T Vr-rOrmmz=I
X O oOocCc O -4 P n < O< I m
W o L»n XN >PNMN-HC un HO
Z= - Z 0V > H W XV O T e m

o
v
=
~
XL
]
=
>
XL
~

Play this puzzle online at : https://thewordsearch.com/puzzle/628683/
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